
S.No. Language Question Option 1 Option 2 Option 3 Option 4

1 English
The property of a material by virtue of which it 
can be beaten or rolled into plates is called

Ductility Elasticity Malleability Plasticity

Hindi
पदाथ[ का वह गणु िजसके कारण उस ेपीटकर या 
Üलेट मɅ रोãड ͩकया जा सकता है, कहलाता है लचीलापन Ĥ×याèथता आघातवध[नीयता सघुɪयता

2 English
If a part is constrained to move and heated, it will 
develop 

Principal Stress Compressive Stress Shear Stress Tensile Stress

Hindi
यǑद कोई भाग Ǒहलने और गम[ होन ेके ͧलए 
ͪववश है, यह ͪवकͧसत करेगा Ĥमखु ĤǓतबल सपंीडन ĤǓतबल अपǾपण ĤǓतबल तÛयता ĤǓतबल

3 English
The intensity of stress which causes unit strain is 
called

Unit mass Modulus of rigidity Bulk modulus Modulus of elasticity

Hindi
ĤǓतबल कȧ तीĭता जो इकाई ͪवकृǓत उ×पÛन 
करती है, कहलाती है इकाई ġåयमान कठोरता मापांक थोक मापांक Ĥ×याèथता मापांक

4 English
In an Ideal machine, the output as compared to 
input is

Less More Equal Less or More

Hindi
एक आदश[ मशीन मɅ, Ǔनͪवçट कȧ तलुना मɅ 
Ǔनçपाद होता है कम अͬधक समान कम या अͬधक दोनɉ

5 English
A spur gear has module 2 mm & 30 numbers of 
teeth rotating at  200 rpm. What will be its 
circular pitch in mm ?

6.28 0.628 62.8 628

Hindi
एक èपर ͬगयर मɅ मॉɬयूल 2 ͧममी और 30 दांतɉ 
कȧ सÉंया 200 चÈकर ĤǓत ͧमनट पर घूमती है। 
ͧममी मɅ इसकȧ गोलाकार ͪपच Èया होगी?

6.28 0.628 62.8 628
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6 English
If a flywheel having mass of 100 kg & radius of 
gyration 10 cmt is rotating at 10 rad/sec, its 
rotational kinetic energy will be

10J 25J 50J 100J

Hindi
यǑद 100 ͩकĒा ġåयमान और 10 cmt पǐरħमण 
कȧ ǒğÏया वाला चÈका 10 rad/sec कȧ गǓत स े
घूम रहा है, तो इसकȧ घूणȸ गǓतज ऊजा[ होगी…

10J 25J 50J 100J

7 English
____of thermodynamics is used to understand the 
concept of  energy  Conservation.

Zeroth law First law Second law None of these

Hindi
ऊçमĤवैͬ गकȧ के _____का उपयोग ऊजा[ सरं¢ण 
कȧ अवधारणा को समझन ेके ͧलए ͩकया जाता 
है।

जीरोथ Ǔनयम Ĥथम Ǔनयम ɮͪवतीय Ǔनयम इनमɅ स ेकोई नहȣं

8 English
If the pressure of an ideal gas in increased then 
the kinetic energy of the gas is

Increase Decrease Remain constant None of these

Hindi
यǑद एक आदश[ गसै का दबाव बढ़ा Ǒदया जाए 
तो गसै कȧ गǓतज ऊजा[ -------- है बढ़ती घटती िèथर रहती इनमɅ स ेकोई नहȣं

9 English
Maximum work is done in compressing air when 
the compression is 

Adiabatic Isothermal Polytropic Isentropic

Hindi
वाय ुको सपंीͫडत करने मɅ अͬधकतम काय[ ͩकया 
जाता है जब सपंीडन ---- होता है ǽɮधोçम समतापी बहुͪवध आइसɅĚोͪपक

10 English
In which process, the rate of transfer of heat is 
maximum?

Conduction Radiation Convection Same in all

Hindi
ͩकस ĤͩĐया मɅ ऊçमा के èथानाÛतरण कȧ दर 
अͬधकतम होती है ?

Ĥवाहकǂव ͪवͩकरण सवंहन सब मɅ बराबर

11 English What is the critical pressure of steam ? 221.2 bar 240.2 bar 122.2 bar 321.2 bar
Hindi भाप का ĐाǓंतक दाब ͩकतना होता है 221.2 bar 240.2 bar 122.2 bar 321.2 bar

12 English
Atmospheric pressure head in terms of water 
Column will be ____ Meter

9.81 10.05 10.85 10.30

Hindi
पानी के èतभं के सदंभ[ मɅ वायमुडंलȣय दबाव 
शीष[ __मीटर होगा 9.81 10.05 10.85 10.30

13 English
Which part of the pneumatic system stores the 
Compressed air?

Air dryer Air compressor Air lubricator Air Receiver tank

Hindi
वायवीय Ĥणालȣ का कौन सा भाग सपंीͫड़त हवा  
èटोर करता है ?

वाय ुशçुकक वाय ुसपंीडक वाय ुèनेहक वाय ुअͧभĒाहȣ टंकȧ



14 English

A centrifugal pump having an impeller diameter 
of 127 mm, delivers a power of 12 hp, if the 
impeller diameter is changed to  254 mm, what is 
the power, if other parameters are kept constant?

192 hp 48 hp 24 hp 96 hp

Hindi

एक अपकɅ ġ पàप का इंपेलर åयास 127 ͧममी है, 
12 एचपी शिÈत Ĥदान करता है, यǑद इंपेलर 
åयास पǐरवǓत [त कर 254 ͧममी कर Ǒदया जाता 
है तो ͩकतनी शिÈत Ĥदान करेगा, यǑद सभी 
मापदंड िèथर रहे?

192 hp 48 hp 24 hp 96 hp

15 English
The punch tape reader in a CNC machine is 
______

Feedback system Input device Program Driving system

Hindi CNC मशीन मɅ पचं टेप रȣडर _____ होता है ĤǓतपिुçट Ĥणालȣ Ǔनͪवçट उपकरण योजना Ĥेरक Ĥणालȣ

16 English
The basic geometric building blocks provided in 
a CAM/CAD package are ____

Points Lines Circles All these

Hindi
सीएडी/सीएएम पकेैज मɅ Ĥदान ͩकए गए 
बǓुनयादȣ Ïयाͧमतीय ǒबिãडगं Þलॉक है ǒबदंएुं पिंÈतयाँ वतृे यɅ सब

17 English
__ involves anticipating bottlenecks in advance 
and identifying  steps that will ensure a smooth 
flow of production.

Production 
control

Production planning Production audit None

Hindi
_ मɅ पहल ेस ेबाधाओं का अनुमान लगाना 
शाͧमल है और उन कदमɉ कȧ पहचान करना जो 
उ×पादन के सचुाǾ Ĥवाह को सǓुनिæचत करɅगे।

उ×पादन Ǔनयğंण उ×पादन योजना उ×पादन लेखापरȣ¢ा कोई नहȣं

18 English

Arrange these following steps in the design 
thinking process for a  innovative solution to a 
problem.
A. Ideate   B. Test   C. Empathize d. Define   E. 
Prototype

A,D,C,B,E B,C,A,D,E C,D,A,E,B C,B,A,E,D

Hindi

ͩकसी समèया के अͧभनव समाधान के ͧलए 
ͫडजाइन ͬथंͩ कंग ĤͩĐया मɅ इन Ǔनàनͧलͨखत 
चरणɉ को åयविèथत करɅ।
A. ͪवचार B. परȣ¢ण C. सहानुभǓूत D. पǐरभाͪषत 
E. Ĥोटोटाइप

A,D,C,B,E B,C,A,D,E C,D,A,E,B C,B,A,E,D



19 English The resources utilized for production are 
Materials, 
Machines, 
Manpower

Materials, Methods, 
Manpower

Machines, 
Manpower, Methods

Methods, Machines, 
Materials 

Hindi
उ×पादन के ͧलए उपयोग ͩकए जाने वाल े
ससंाधन हɇ

सामĒी, मशीनɅ, 
जनशिÈत सामĒी, तरȣके, मशीनɅ मशीनɅ, जनशिÈत, 

तरȣके तरȣके, मशीनɅ, सामĒी

20 English Energy is stored in a flywheel in the form of Heat energy Power energy Potential energy Kinetic energy

Hindi
एक Ýलाईåहȣल मɅ ऊजा[ ..... के Ǿप मɅ  सĒंǑहत 
होती है। ऊçमीय ऊजा[ ͪवɮयुत ऊजा[ िèथǓतज ऊजा[ गǓतज ऊजा[

21 English
The power loss in transmission/distribution line 
depends on -

Current in the 
line

Resistance of the 
line

Length of the line All of these

Hindi
Ěांसͧमशन/ͫडèĚȣÞयूशन लाइन मɅ पावर लॉस 
ͩकस पर Ǔनभ[र करता है -

लाइन मɅ धारा रेखा का ĤǓतरोध रेखा कȧ लबंाई यह सभी

22 English The function of conservator in a transformer is
To protect 
against internal 
fault

To reduce copper as 
well as core losses

Cool the 
transformer oil

Take care of the 
expansion and 
contraction of 
transformer oil due to 
variation of 
temperature of 
surroundings.

Hindi Ěांसफाम[र मɅ कंजवȶटर का काय[ है आंतǐरक दोष स े
बचाव के ͧलए

तांबे के साथ-साथ 
कोर नुकसान को 
कम करने के ͧलए

Ěांसफाम[र के तले 
को ठंडा कर लɅ

आसपास के तापमान 
मɅ पǐरवत[न के कारण 
Ěांसफॉम[र तले के 
Ĥसार और सकुंचन 
का Úयान रखɅ।

23 English Silicon steel used in laminations mainly  reduces Hysteresis loss Eddy current losses Copper losses All of these

Hindi
लेͧ मनेशन मɅ ĤयÈुत ͧसͧलकॉन èटȣल मÉुय Ǿप 
स ेकम करता है Ǒहèटैǐरसीस हाǓन एड़ी धारा नुकसान तांबे का नुकसान यह सभी

24 English Inductance is the property to
Oppose the 
change in 
resistance

Oppose the change 
in frequency

Oppose the change 
in current

Oppose the change in 
voltage

Hindi Ĥेरक×व का गणु है
ĤǓतरोध मɅ 
बदलाव का 
ͪवरोध करɅ

आवृͪ ƣ मɅ पǐरवत[न 
का ͪवरोध करɅ

धारा मɅ पǐरवत[न 
का ͪवरोध करɅ

वोãटेज मɅ पǐरवत[न 
का ͪवरोध करɅ



25 English
Corona loss can be reduced by the use of a 
hollow conductor because

The current 
density is reduced

The eddy current in 
the conductor is 
eliminated

For a given cross-
section, the radius 
of the conductor is 
increased

Of better ventilation 
in the conductor

Hindi
खोखल ेकंडÈटर के उपयोग स ेकोरोना हाǓन को 
कम ͩकया जा सकता है Èयɉͩक

धारा घन×व कम 
हो गया है

कंडÈटर मɅ एड़ी 
करंट समाÜत हो 
जाता है

ͩकसी Ǒदए गए 
अनĤुèथ काट के 
ͧलए, चालक कȧ 
ǒğÏया बढ़ा दȣ 
जाती है

कंडÈटर मɅ बेहतर 
वɅǑटलेशन कȧ

26 English In house wiring, black and green wires indicate
 Earth and 
neutral 
respectively

 Phase and neutral 
respectively

 Phase and earth 
respectively

Neutral and earth 
respectively

Hindi घरेल ूतारɉ मɅ काल ेऔर हरे रंग के तार दशा[त ेहɇ पØृवी और 
तटèथ Đमशः

Đमशः चरण और 
तटèथ

चरण और पØृवी 
Đमशः

Đमशः तटèथ और 
पØृवी

27 English
The air-gap between the yoke and armature in a 
dc motor is kept small

to achieve a 
stronger 
magnetic 
field

to avoid overheating 
of the machine

to avoid locking of 
the armature 

to avoid transverse 
motion

Hindi
डीसी मोटर मɅ योक और आमȶचर के बीच एयर-
गपै को छोटा रखा जाता है

एक मजबतू 
चुंबकȧय ¢ेğ 
ĤाÜत करने के 
ͧलए

मशीन के óयादा 
गरम होन ेस ेबचने 
के ͧलए

आमȶचर को लॉक 
होन ेस ेबचाने के 
ͧलए

अनĤुèथ गǓत स े
बचने के ͧलए

28 English
 Fleming’s left-hand rule may be applied to an 
electric generator to find out

 the direction of 
rotor rotation

the polarity of 
induced emf

 the direction of 
induced emf

 the direction of the 
magnetic field

Hindi
Ýलेͧ मगं के बाए ंहाथ के Ǔनयम का पता लगाने 
के ͧलए ͪवɮयुत जनरेटर पर लाग ूͩकया जा 
सकता है

रोटर के घूमन े
कȧ Ǒदशा

Ĥेǐरत ईएमएफ कȧ 
Ģुवीयता

Ĥेǐरत ईएमएफ कȧ 
Ǒदशा चुंबकȧय ¢ेğ कȧ Ǒदशा

29 English
Two transformers when operating in parallel will 
share the load depending upon which of the 
following?

 Magnetizing 
current

 Leakage reactance  Per unit impedance  Efficiency

Hindi
समानांतर मɅ सचंालन करत ेसमय दो Ěांसफॉम[र 
Ǔनàन मɅ स ेͩकस पर Ǔनभ[र करत ेहुए भार 
साझा करɅगे?

चàुबकȧय धारा ǐरसाव ĤǓतͩĐया ĤǓत यǓूनट ĤǓतबाधा ¢मता

30 English The crawling in an induction motor is caused by
Improper design 
of the machine

 Low voltage supply  High loads
 Harmonics developed 
in the motor



Hindi इंडÈशन मोटर मɅ रɅगन ेका कारण होता है मशीन का गलत 
ͫडजाइन

कम वोãटेज कȧ 
आपǓूत [ उÍच भार मोटर मɅ हामȾǓनÈस 

का ͪवकास हुआ

31 English The breakdown voltage of a cable depends on
Presence of 
moisture

 Working 
temperature

Time of application 
of the voltage

All of these

Hindi एक केबल का Ħेकडाउन वोãटेज Ǔनभ[र करता है नमी कȧ 
उपिèथǓत वͩकɍ ग टेàपरेचर वोãटेज के आवेदन 

का समय यह सभी

32 English
For a delta-connected circuit the correct 
relationship is

VL = Vph Iph x √3 = IL Both (a) and (b) VL = IL x √3

Hindi डãेटा-कनेÈटेड सͩक[ ट के ͧलए सहȣ सबंधं है VL = Vph Iph x √3 = IL (a) और (b) दोनɉ VL = IL x √3

33 English Series reactors are used to
Improve the 
transmission 
efficiency

Bring down the 
fault level within 
the capacity of the 
switchgear

Improve the voltage 
regulation

Improve the power 
factor of the power 
system

Hindi Įृंखला ǐरएÈटरɉ का उपयोग ͩकया जाता है सचंरण द¢ता मɅ 
सधुार हेतु

फॉãट èतर को 
िèवचͬगयर कȧ 
¢मता के भीतर 
नीच ेलाने हेतु

वोãटेज ͪवǓनयमन 
मɅ सधुार हेतु

पावर ͧसèटम के 
पावर फैÈटर मɅ 
सधुार हेतु

34 English HRC fuses provide best protection for
Short circuit 
protection

Earth fault 
protection

Over Load 
protection

Over voltage 
protection

Hindi
एचआरसी āयूज़ के ͧलए सवȾƣम सरु¢ा Ĥदान 
करत ेहɇ शॉट[ सͩक[ ट सरु¢ा पØृवी दोष सरं¢ण अǓतभार स ेबचाना अͬधक वोãटता स े

सरं¢ण

35 English
Two alternators are running in parallel. If the 
field of one of the alternators is adjusted, it will

Change its power 
factor

Change its frequency Reduce its speed Change its load

Hindi
समानांतर मɅ दो अãटरनेटर चल रहे हɇ। यǑद 
एक अãटरनेटर के ¢ेğ को समायोिजत ͩकया 
जाता है तो यह होगा

इसका पावर 
फैÈटर बदलेगा

इसकȧ आवृͪ ƣ 
बदलेगी

इसकȧ गǓत कम 
होगी इसका भार बदलेगा

36 English
Cogging term is associated with which of the 
following

 3-phase 
transformer

 Compound motor  Induction motor D.C series motor

Hindi
कॉͬगगं शÞद Ǔनàनͧलͨखत मɅ स ेͩकसस ेसबंंͬ धत 
है 3-चरण Ěांसफाम[र यौͬगक मोटर इंडÈशन मोटर डीसी सीरȣज मोटर

37 English
The protection against direct lightning strokes 
and high voltage steep waves is provided by

ground wires lightning arresters
lightning arresters 
and ground wires

earthing of neutral



Hindi
सीधे तͫड़त झटकɉ और उÍच वोãटेज खड़ी लहरɉ 
स ेसरु¢ा ͩकसके ɮवारा Ĥदान कȧ जाती है जमीन के तार। ǒबजलȣ बÛदȣ ǒबजलȣ बÛदȣ और 

जमीन के तार ÛयĚूल कȧ अͬथɍग

38 English A power MOSFET has three terminals called
 Collector, 
emitter, and base

Drain, source, and 
gate

 Drain, source and 
base

 Collector, emitter, 
and gate

Hindi
एक शिÈत MOSFET मɅ तीन टͧम[नल होत ेहɇ 
िजÛहɅ कहा जाता है

कलÈेटर, एͧमटर 
और बेस नालȣ, İोत और ɮवार नालȣ, İोत और 

आधार
कलÈेटर, एͧमटर और 
गेट

39 English
When N1 is the synchronous speed and N2 is the 
actual speed of the rotor, the slip is given by

 N1−N2  1−(N1/N2)  1−(N2/N1) (N2/N1)−1

Hindi
जब N1 तãुयकाͧलक गǓत है और N2 रोटर कȧ 
वाèतͪवक गǓत है, तो पचȸ ͩकसके ɮवारा दȣ 
जाती है

 N1−N2  1−(N1/N2)  1−(N2/N1) (N2/N1)−1

40 English
The permissible flux density in the case of cold-
rolled grain-oriented steel is around

 3.2 Wb/m2 1.7 Wb/m2 3.7 Wb/m2 5.7 Wb/m2

Hindi
कोãड रोãड Ēेन-ओǐरएंटेड èटȣल के मामल ेमɅ 
अनुमेय ÝलÈस घन×व लगभग है  3.2 Wb/m2 1.7 Wb/m2 3.7 Wb/m2 5.7 Wb/m2


